BID TABULATION FOR:

CONSTRUCTION OF THE STARGAZING TRAIL BRIDGE BRIDGELAND CREEKLAND VILLAGE

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 491
HARRIS COUNTY, TEXAS
NOVEMBER 04, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
NOVEMBER 5, 2025
1104-6215B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

BIDDER NAME	BASE BID
1) MAR-CON SERVICES, LLC.	\$1,387,808.83
2) EARTH BUILDERS, L.P.	\$1,483,271.50
3) MC2 CIVIL, LLC	\$1,485,849.60
4) FORDE CONSTRUCTION COMPANY	\$1,674,867.12
5) LARRY YOUNG PAVING	\$1,763,947.80

CALENDAR DAYS: 113

I, Micah Kriekemeier, PE, hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE STARGAZING TRAIL BRIDGE BRIDGELAND CREEKLAND VILLAGE

HARRIS CO
BID OPENING DATE: NOVEMBE
BID OPENING LOCATION: LIA ENGIN
TABULATION BY: A.CAROTH
TABULATION DATE: NOVEMBE
LIA JOB NO. 1104-6215

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 491
HARRIS COUNTY, TEXAS
NOVEMBER 04, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
NOVEMBER 5, 2025
1104-6215B (9.2)

				1) MAR-CON	SERVICES, LLC.	2) EARTH BI	JILDERS, L.P.	3) MC2 CI	VIL, LLC	4) FORDE CONSTRU	CTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BRIDGE ITEMS 1. CEMENT STABILIZED AB	BUTMENT BACKFILL, COMPLETE IN PLACE (0400 7010)	CY	41	\$148.10	\$6,072.10	\$120.00	\$4,920.00	\$150.00	\$6,150.00	\$134.00	\$5,494.00
2. 36" DIAMETER DRILLED	SHAFTS, COMPLETE IN PLACE (0416 7006)	LF	939	\$406.60	\$381,797.40	\$300.00	\$281,700.00	\$440.00	\$413,160.00	\$400.00	\$375,600.00
3. CLASS "C" CONCRETE –	ABUTMENTS, COMPLETE IN PLACE (0420 7012	CY	32	\$1,693.20	\$54,182.40	\$1,500.00	\$48,000.00	\$1,500.00	\$48,000.00	\$2,300.00	\$73,600.00
4. CLASS "C" CONCRETE –	CAP, COMPLETE IN PLACE (0420 7022)	CY	37.8	\$1,826.50	\$69,041.70	\$1,500.00	\$56,700.00	\$1,500.00	\$56,700.00	\$2,500.00	\$94,500.00
5. CLASS "C" CONCRETE –	COLUMN, COMPLETE IN PLACE (0420 7038)	CY	23.1	\$1,246.40	\$28,791.84	\$1,500.00	\$34,650.00	\$1,500.00	\$34,650.00	\$3,100.00	\$71,610.00
6. REINFORCED CONCRET	E SLAB (5"), COMPLETE IN PLACE (0422 7001)	SF	5928	\$16.50	\$97,812.00	\$30.00	\$177,840.00	\$18.00	\$106,704.00	\$27.00	\$160,056.00
7. BRIDGE APPROACH SLA	B (BAS-C), COMPLETE IN PLACE (0422 7013)	CY	74.2	\$460.50	\$34,169.10	\$750.00	\$55,650.00	\$750.00	\$55,650.00	\$816.00	\$60,547.20
8. PRESTRESSED CONCRET 7018)	TE SLAB BEAMS (4SB15), COMPLETE IN PLACE (0425	LF	301.01	\$242.80	\$73,085.23	\$250.00	\$75,252.50	\$270.00	\$81,272.70	\$282.00	\$84,884.82
 PRESTRESSED CONCRET 7019) 	TE SLAB BEAMS (5SB15), COMPLETE IN PLACE (0425	LF	903.02	\$223.10	\$201,463.76	\$250.00	\$225,755.00	\$295.00	\$266,390.90	\$255.00	\$230,270.10
	SCELLANEOUS NON-BRIDGE (SIDEWALK EXPANSION COMPLETE IN PLACE (0442 7007)	LB	220	\$35.40	\$7,788.00	\$20.00	\$4,400.00	\$20.00	\$4,400.00	\$44.00	\$9,680.00
11. RAIL TYPE T402, COMPI	LETE IN PLACE (0450 7012)	LF	164	\$219.90	\$36,063.60	\$255.00	\$41,820.00	\$260.00	\$42,640.00	\$246.00	\$40,344.00
12. RAIL TYPE C402, COMPI	LETE IN PLACE (0450 7036)	LF	164	\$219.90	\$36,063.60	\$278.00	\$45,592.00	\$270.00	\$44,280.00	\$266.00	\$43,624.00
13. ARMOR JOINT (SEALED)), COMPLETE IN PLACE (0454 7003)	LF	50	\$108.00	\$5,400.00	\$150.00	\$7,500.00	\$150.00	\$7,500.00	\$153.00	\$7,650.00
14. 8" BRIDGE SIDEWALK, C	COMPLETE IN PLACE, (0422 7012)	SF	1368	\$15.40	\$21,067.20	\$14.00	\$19,152.00	\$14.00	\$19,152.00	\$30.00	\$41,040.00
15. 12" RIP RAP (STONE PR	OTECTION), COMPLETE IN PLACE	CY	457	\$187.20	\$85,550.40	\$210.00	\$95,970.00	\$100.00	\$45,700.00	\$227.00	\$103,739.00
CONSTRUCTION OF BRI	EMOVAL OF TEMPORARY COFFER DAM FOR THE DGE, INCLUDES DEWATERING AND ALL DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS,	EA	1	\$6,850.60	\$6,850.60	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$9,500.00	\$9,500.00
	VATER FROM COFFER DAM INTO EXISTING K155 (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	7	\$1,104.00	\$7,728.00	\$350.00	\$2,450.00	\$1,200.00	\$8,400.00	\$1,600.00	\$11,200.00
	ONTROL DEVICES, (INCLUDING ALL TRAFFIC STRIPING, STREET SIGNS AND TRAFFIC SIGNS),	LS	1	\$2,875.00	\$2,875.00	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00
ROAD TRUCKS, (0-0.5 M STANDARD PROCTOR D	S HAUL FROM DESIGNATED STOCKPILE, USING OFF IILE), PLACEMENT AND COMPACTION TO 95% ENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE D BY ENGINEER), COMPLETE IN PLACE	СУ	200	\$21.40	\$4,280.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$17.00	\$3,400.00
SUBTOTAL BRIDGE ITEMS				-	\$1,160,081.93	_	\$1,196,551.50		\$1,294,249.60		\$1,429,539.12

ARCHITECTURAL ITEMS

FRN F-1386
LJA Engineering, Inc.
O:\LAND\1104\6215B\11425_Stargazing Trail Bridge BCV_BT.xlsx

BID TABULATION FOR:

CONSTRUCTION OF THE STARGAZING TRAIL BRIDGE BRIDGELAND CREEKLAND VILLAGE

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 491
HARRIS COUNTY, TEXAS
NOVEMBER 04, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
NOVEMBER 5, 2025
1104-6215B (9.2)

				1) MAR-CON	I SERVICES, LLC.	2) EARTH BU	JILDERS, L.P.	3) MC2 CI	VIL, LLC	4) FORDE CONSTRU	CTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.	M3-CUSTOM METAL ARCHITECTURAL PEDESTRIAN RAIL FOR BRIDGE AS PER DETAIL, INCLUDES DESIGN, ENGINEERING, FABRICATION, INSTALLATION, ALL FASTENERS, ANCHORS AND MATERIALS AND POWDER COAT FINISH, COMPLETE IN PLACE. PLEASE JESSON DAIGLE WITH AMICO AT (514)-531-0618 OR JDAIGLE@AMICOGLOBAL.COM	LF	328	\$649.10	\$212,904.80	\$800.00	\$262,400.00	\$550.00	\$180,400.00	\$688.00	\$225,664.00
SUBTOT	AL ARCHITECTURAL ITEMS				\$212,904.80	_	\$262,400.00		\$180,400.00	_	\$225,664.00
1.	ANEOUS ITEMS AS-BUILT TOPOGRAPHY SURVEY: INCLUDING TOP OF CURB, GUTTER LINE, AND INVERT ELEVATIONS AT STORM SEWER INLETS, TOP OF CURB ELEVATION AT STREET HIGH POINTS, TOP OF CURB ELEVATIONS ON ENTRY, TOP OF RETAINING WALLS, ALL PLAN AND APPARENT GRADE CHANGE ELEVATIONS IN ADJACENT RIGHTS-OF-WAY; IN ACCORDANCE WITH SECTION 5.2 IN THE INSTRUCTION AND SECTION 0100" GENERAL REQUIREMENTS", COMPLETE IN PLACE	LS	1	\$7,475.00	\$7,475.00	\$15,000.00	\$15,000.00	\$2,000.00	\$2,000.00	\$7,300.00	\$7,300.00
2.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,983.80	\$1,983.80	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$514.00	\$514.00
3.	INLET PROTECTION BARRIER FOR EXISTING INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	4	\$86.30	\$345.20	\$180.00	\$720.00	\$100.00	\$400.00	\$50.00	\$200.00
4.	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$3,828.10	\$3,828.10	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
5.	INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING) TO BE USED AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	700	\$1.70	\$1,190.00	\$3.00	\$2,100.00	\$4.00	\$2,800.00	\$4.50	\$3,150.00
SUBTOT	AL MISCELLANEOUS ITEMS			•	\$14,822.10	_	\$24,320.00	_	\$11,200.00		\$19,664.00
BID SUM	IMARY										
BRIDGE	ITEMS				\$1,160,081.93		\$1,196,551.50		\$1,294,249.60		\$1,429,539.12
ARCHITE	CTURAL ITEMS				\$212,904.80		\$262,400.00		\$180,400.00		\$225,664.00
MISCELL	ANEOUS ITEMS				\$14,822.10		\$24,320.00		\$11,200.00		\$19,664.00
TOTAL A	MOUNT BASE BID				\$1,387,808.83		\$1,483,271.50		\$1,485,849.60		\$1,674,867.12

CONSTRUCTION OF THE STARGAZING TRAIL BRIDGE BRIDGELAND CREEKLAND VILLAGE

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 491 HARRIS COUNTY, TEXAS NOVEMBER 04, 2025 LJA ENGINEERING, INC. A.CAROTHERS NOVEMBER 5, 2025 1104-6215B (9.2)

BID OPE	NING DATE: NING LOCATION: TION BY: TION DATE: NO.			HARRIS COUNTY, TEXA: NOVEMBER 04, 2025 LIA ENGINEERING, INC. A.CAROTHERS NOVEMBER 5, 2025 1104-6215B (9.2)	S
				5) LARRY YOU	JNG PAVING
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
BRIDGE 1.	ITEMS CEMENT STABILIZED ABUTMENT BACKFILL, COMPLETE IN PLACE (0400 7010)	CY	41	\$97.00	\$3,977.00
2.	36" DIAMETER DRILLED SHAFTS, COMPLETE IN PLACE (0416 7006)	LF	939	\$491.00	\$461,049.00
	CLASS "C" CONCRETE – ABUTMENTS, COMPLETE IN PLACE (0420 7012	CY	32	\$1,500.00	\$48,000.00
) CLASS "C" CONCRETE – CAP, COMPLETE IN PLACE (0420 7022)	CY	37.8	\$1,500.00	\$56,700.00
	CLASS "C" CONCRETE – COLUMN, COMPLETE IN PLACE (0420 7038)	CY	23.1	\$2,000.00	\$46,200.00
	REINFORCED CONCRETE SLAB (5"), COMPLETE IN PLACE (0422 7001)	SF	5928	\$17.00	\$100,776.00
7.	BRIDGE APPROACH SLAB (BAS-C), COMPLETE IN PLACE (0422 7013)	CY	74.2	\$940.00	\$69,748.00
8.	PRESTRESSED CONCRETE SLAB BEAMS (4SB15), COMPLETE IN PLACE (0425 7018)	LF	301.01	\$300.00	\$90,303.00
9.	PRESTRESSED CONCRETE SLAB BEAMS (5SB15), COMPLETE IN PLACE (0425 7019)	LF	903.02	\$290.00	\$261,875.80
10.	STRUCTURAL STEEL, MISCELLANEOUS NON-BRIDGE (SIDEWALK EXPANSION JOINT COVER PLATES), COMPLETE IN PLACE (0442 7007)	LB	220	\$29.00	\$6,380.00
11.	RAIL TYPE T402, COMPLETE IN PLACE (0450 7012)	LF	164	\$320.00	\$52,480.00
12.	RAIL TYPE C402, COMPLETE IN PLACE (0450 7036)	LF	164	\$320.00	\$52,480.00
13.	ARMOR JOINT (SEALED), COMPLETE IN PLACE (0454 7003)	LF	50	\$270.00	\$13,500.00
14.	8" BRIDGE SIDEWALK, COMPLETE IN PLACE, (0422 7012)	SF	1368	\$20.00	\$27,360.00
15.	12" RIP RAP (STONE PROTECTION), COMPLETE IN PLACE	CY	457	\$220.00	\$100,540.00
16.	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF BRIDGE, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$18,500.00	\$18,500.00
17.	BYPASS PUMPING OF WATER FROM COFFER DAM INTO EXISTING K155 DOWNSTREAM, 24HRS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	7	\$500.00	\$3,500.00
18.	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$3,400.00	\$3,400.00
19.	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING OFF ROAD TRUCKS, (0-0.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	200	\$41.00	\$8,200.00
SUBTOT	AL BRIDGE ITEMS			_	\$1,424,968.80

ARCHITECTURAL ITEMS

CONSTRUCTION OF THE STARGAZING TRAIL BRIDGE BRIDGELAND CREEKLAND VILLAGE

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 491 HARRIS COUNTY, TEXAS NOVEMBER 04, 2025 LJA ENGINEERING, INC. A.CAROTHERS NOVEMBER 5, 2025 1104-6215B (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.		 	HARRIS COUNTY, TEX NOVEMBER 04, 2025 LIA ENGINEERING, IN A.CAROTHERS NOVEMBER 5, 2025 1104-6215B (9.2)	
			5) LARRY YO	DUNG PAVING
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
 M3-CUSTOM METAL ARCHITECTURAL PEDESTRIAN RAIL FOR BRIDGE AS PER DETAIL, INCLUDES DESIGN, ENGINEERING, FABRICATION, INSTALLATION, ALL FASTENERS, ANCHORS AND MATERIALS AND POWDER COAT FINISH, COMPLETE IN PLACE. PLEASE JESSON DAIGLE WITH AMICO AT (514)-531- 0618 OR JDAIGLE@AMICOGLOBAL.COM 	LF	328	\$990.00	\$324,720.00
SUBTOTAL ARCHITECTURAL ITEMS			-	\$324,720.00
MISCELLANEOUS ITEMS 1. AS-BUILT TOPOGRAPHY SURVEY: INCLUDING TOP OF CURB, GUTTER LINE, AND INVERT ELEVATIONS AT STORM SEWER INLETS, TOP OF CURB ELEVATION AT STREET HIGH POINTS, TOP OF CURB ELEVATIONS ON ENTRY, TOP OF RETAINING WALLS, ALL PLAN AND APPARENT GRADE CHANGE ELEVATIONS IN ADJACENT RIGHTS-OF-WAY; IN ACCORDANCE WITH SECTION 5.2 IN THE INSTRUCTION AND SECTION 0100" GENERAL REQUIREMENTS", COMPLETE IN PLACE	LS	1	\$6,800.00	\$6,800.00
STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,250.00	\$1,250.00
3. INLET PROTECTION BARRIER FOR EXISTING INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	4	\$96.00	\$384.00
4. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00
 INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING) TO BE USED AS DIRECTED BY ENGINEER, COMPLETE IN PLACE 	LF	700	\$4.75	\$3,325.00
SUBTOTAL MISCELLANEOUS ITEMS			-	\$14,259.00
BID SUMMARY				
BRIDGE ITEMS				\$1,424,968.80
ARCHITECTURAL ITEMS				\$324,720.00
MISCELLANEOUS ITEMS				\$14,259.00
TOTAL AMOUNT BASE BID				\$1,763,947.80